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ma Assignment e—

Complete pgs. 304 - 305

Questions 1-7, 10,11,13,14
16,18,19abc and 21
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f Tﬂ:: Speed, Vv, 1n Kilometers per hour,ofa
Car before « Collision Can De approximated

Trom the ﬁe_nﬁ h,d, in meters, of +he sKid
+the tre. On a dry doy,

i
mar kK lef+ bd
one formula” that approximates +his’speed
is v=\lead ; d=Q.
Q) ReWrH—e +he formula as a mixed radical.
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Jl. Wc. Q calm da + he distance, d in H\I_iOﬂ‘]E"L"ETS
-H\ t+ Hhe COQS uard crew on the (dast
Guard catter VakK+ta can sceto + eﬁgrlzuon
deperds on Their hgi'm ht,h, in meters, above
the water. i‘ne -Formu d*\l&h hzO
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height of +he crew above +he water ¢

e distance 4o the horizon s 7.1 Km?
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